Vocas Systems b.v. info@vocas.com www.vocas.com Page: 1/1

Q?f LPL close focus adapter 20 mm
@@@@ 0900-0151

Version Date: 18-3-2019 10:20

® ©

@» ®

Item No | Part Numbe Qty Description

1 10.117.01 1  LPL front unit

2 10.119.01 1 | LPL lockring

3 10.118.01 1 LPL lock shifting ring

4 744003 1  Screw M2X5 DIN965 4.8 ZN Z

5 01.038.01 8  Screw M2,5X8 DIN912 A2 70

6 10.115.01 3 Ring 2,2x4,5 DIN6798A St-Zn

7 05.024.01 3  Screw M2X3 DIN 912 A2-70

8 10.125.01 1 | LPL close focus adapter 20 mm rear unit
9 10.122.01 1 LPL-mount cap

10 10.113.01 1  Screw M2,5X6 DIN912 A2 70 (Head 4mm)



